DPD01156B Siemens Industry, Inc.

Flange Mount Kits for Frames FS4 to FS7
Mounting Instructions

General

Using the optional Flange Mounting Kit, you can mount your drive through the cabinet wall or similar surface
so that the control unit of the drive remains inside the cabinet.

The correct installation of the Flange Mounting Kit might affect the IP or UL protection class of the drive. If
your drive is protected according to Type12/IP54, or your drive is supplied with flange option at the factory,
you only need to install the collars, as instructed. However, the power module of a Type1/IP21-protected drive
will only become protected according to Type12/IP54 on the rear side (see figure below), if all parts of the
flange mounting kit are installed properly. The need for this has to be evaluated and these actions are
explained in this guide.

CABINET
WALL OR
CABINET WALL SIMILAR

OR SIMILAR

REAR
FRONT—— «~—TYPE 12/
IP54

P00

Figure 1. Example of the flange mounting.



Siemens Industry, Inc. DPD01156B

Flange Mount - Frames FS4 - FS7
Figures 2. - 5. present the dimensions of the drives with the flange mount option. Figure 6. present the
dimensions of the opening and the drive outline with the flange.

Use the embossed holes or self-clinching nuts in the back plate when mounting the drive to ensure proper
sealing.

357 (14.05)

- 341 (13.42) o
9(3 L 186.9 (7.35) 101.6 (4)
T~

! (Qy(e

(c8'2) v'zL
(08'v) Z21
(86°5) 251

(657 51

18.5(72) | 285 (11.22) 24 (:94)

] o
29)

32.8 (1.

[

39 (1.53)

8¥'2) 061

[

(I

Figure 2. FS4, flange mount, dimensions.

BT11134




DPD01156B Siemens Industry, Inc.

4541 (17.87)
9,(:35) 436 (17.16)
I &)
g; 2625 (10.33) 101.9 (4.01) Y
_ - i o
i (Z ® ol
X
\ -
N L[S N &
R 3 |& NG
[ ly ~
3 HH g
® o) e ]

It = 2ol
g N
@ o
8 2

&
13 (51 382 (15.03) 24 (.94)
N
g
@ 33(1.29)
18
39 (1.53)
= e
B
[® L i
N H
I N
B
&

27,5 (1.08)

Figure 3. FS5, flange mount, dimensions.



Siemens Industry, Inc.

DPD01156B

[EESS

[T

k]

500 (22 BI)
566 (22 28)
39456 (14 LR
14 = L L
e
P
3B
2
=5
\
FHEA (11.27) +00 Or
B
632
160 (66} 514 (01.23) (1.0
T N
8
£ W
B L = L] L3 L2 143
)
= -
= |E
=
* U [
119
(54— T-

Figure 4. FS6, flange mount, dimensions



DPD01156B

Siemens Industry,

nc.

- 4416 (17.38) 21 600 2
E
L] L]
8 oo
|
° ® ]
2 g ot —
152 192.5 (7.57) _!_ 197.5 (7.77) _!_ 1925 (7.57) _!\
(138 680 (26.77) NN
Ve
720 (26.34) L3
660 25.98) L 203 (91)
L \ [
—qB— —r— — 4+ — — & =
H
_d | | | \ | | =
\EA_ ———3 = —%— 1 =7
l — | | I PR N P~ (— =
- T T T
] | 1"
w &
£ +— —s——pp— —4— —+4 2
512 241
Figure 5. FS7, flange mount, dimensions



Siemens Industry, Inc.

DPD01156B

flange
outline

\

|
up i
|
d
|
|
cutout |
1 > ©
|
|
I
I
I
|
|
|
I
I
I
77777777777777777777777777 |
m
B
D
11136.emf

Figure 6. Flange mount cutout and drive outline dimensions for FS4 to FS7.

Table 1. Flange mount cutout dimensions for FS4 to FS7 in mm (in).

Frame ‘ A B ‘ c ) E
FS4 | 315(12.40)| 137 (5.39) | 357 (14.05) | 152 (5.98) | 24 (.94)
FS5 | 408 (16.06)| 152 (5.98) | 454 (17.87) | 169 (6.65) | 23 (.90)
FS6 | 541 (21.29)] 203 (7.99) | 580 (22.83) | 220 (8.66) | 23 (.90)
FS7 | 655 (25.78)| 240 (9.44) | 680 (26.77) | 286 (11.25) | 13 (51)




DPD01156B Siemens Industry, Inc.

Flange Mount Kit for Frame FS4

The kit consists of:

p
o N 1. Top collar, (70CMR00281)
=7 e 2. Bottom collar, (70OCMR00280)
3. Side collars (2 pcs), (7T0CMR00282)
TTTInInt 4. Internal fan, (7OCPE00132, 70CPE00056) depends on the

M4x16 control unit
5. Sealing plug (3 pcs), (70CMR00324)

R}
M4x12 Additionally:
3 7 3 + 8 screws size 4x16 (for the top and bottom collar mounting)
M3.5x10 - 3 screws size 4x12 (for the side collar mounting)

+ 2 screws size 3.5x10 (for the bottom collar mounting)

9266.emf

FS4 Flange Mounting

If your drive is the Type 1/IP21-protected and there is the risk that dust or other impurities in the cooling air
might end up inside the control unit, start the mounting with actions described in the steps 1 to 4.

If this is not needed, install the flange mounting kit proceeding directly to the step 5. Note, in this case the rear
will not be according to the Type 12/IP54.



Siemens Industry, Inc. DPD01156B

Remove the cover of the drive.

T el

Lift up the 1/O protection plate.

The location of the internal fan
depends on the control unit.

If you have the control unit presented
in the upper picture, slide the internal
fan into the opening with the label
facing the cabling end of the drive.

If you have the control unit presented
in the lower picture, install the internal
fan with the label facing downwards.




DPD01156B

Siemens Industry, Inc.

Connect the power wire to the power
connector. The location of the power
connector depends on the control unit.

Remove the main fan.

9289.emf




Siemens Industry, Inc.

DPD01156B

Insert the three sealing plugs into
4 position where indicated.

Remount the main fan carefully,
checking its position.

Attach the side collars with three
screws size 4x12. The tightening
torque for the screws is 2 Nm (17.70
5 Ibf-in).

Important! Do not yet screw the fourth
screw in the bottom right hole.

9287.emf




DPD01156B

Siemens Industry, Inc.

Mount the top collar with the four
screws size 4x16; the tightening torque
is 2 Nm (17.70 Ibf-in).

Mount the bottom collar with the four
screws size 4x16, (2 Nm (17.70 Ibf-in)
torque) and the two screws size
3.5x10; the tightening torque is 1.7 Nm
(15.04 Ibf-in).

11146.emf




Siemens Industry, Inc. DPD01156B

Flange Mount Kit for Frame FS5

The kit consists of:

—1 1. Top collar, (70CMR00176)
&1 e 2. Bottom collar, (70OCMR00175)
ﬁﬁﬁﬁﬁﬁﬁﬁ 3. Side collars (2 pcs), (7T0OCMR00090)
M4x16 4. Internal fan, (70CPE00056)
5. Sealing plugs (4 pcs), (TOCMR00324)
177071
M4x12 Additionally:

» 8 screws size 4x16 (for the top and bottom collar mounting)
3 » 4 screws size 4x12 (for the side collar mounting)

* 2 screws size 4x16 (for the mounting of the internal fan)

9268.emf

FS5 Flange Mounting

If your drive is the Type1/IP21-protected and there is the risk that dust or other impurities in the cooling air
might end up inside the control unit, start the mounting with actions described in the steps 1 to 4.

If this is not needed, install the flange mounting kit proceeding directly to the step 5. Note, in this case the rear
will not be according to the Type12/IP54.



DPD01156B

Siemens Industry, Inc.

Remove the cover of the drive.

The location of the internal fan
depends on the control unit.

If you have the control unit presented in
the upper picture, install the internal
fan with the label facing upwards.

Screws size 4x16 are needed for
mounting; the tightening torque for the
screws is 0,5 Nm (4.42 Ibf-in).

If you have the control unit presented in
the lower picture, install the internal fan
with the label facing downwards.

11152.emf




Siemens Industry, Inc. DPD01156B

Then insert the power connector of the
internal fan into the power terminal.
The location of the power connector
2 depends on the control unit.

Remount the drive cover.

3 Remove the main fan.

9289.emf




Siemens Industry, Inc.

DPD01156B
88
88 e
,‘/ / T
4 Insert the sealing plugs. 4 /////////////ﬂ/// ”/h
Remount the main fan. '\h-gl////////'/,/’//’///%////

i

Attach the side collars with the four
5 screws size 4x12; the tightening torque
for the screws is 2 Nm (17.70 Ibf-in). e




Siemens Industry, Inc.

DPD01156B

Then mount the top collar with the four
screws size 4x16; the tightening torque
is 2 Nm (17.70 Ibf-in).

Mount the bottom collar with the four
screws size 4x16, (2 Nm (17.70 Ibf-in
torque )) and the two screws size
3.5x10; the tightening torque is 1,7 Nm
(15.04 Ibf-in).

Place the screws as shown in the
picture.

11153.emf




DPD01156B Siemens Industry, Inc.

Flange Mount Kit for Frame FS6

The kit consists of:

1. Top collar, (70CMR00174)
O _ 2. Bottom collar, (70CMR00173)
3. Side collars (2 pcs), (7TOCMR00145)
TTTTT0T7T 4. Internal fan, (7OCPE00056)

M4x16 5. Sealing plugs (6 pcs), (70CMR00324)
6. Fan grille 50 mm, (70CTC1102509)

gouoong 7. Snaps (2 pcs), (The snaps can be battered down from the

M4x12 bottom collar.)

3 0T 3 Additionally:
M3.5x10 » 8 screws size 4x16 (for the top and bottom collar mounting)

* 6 screws size 4x12 (for the side collar mounting)

4 » 2 screws size 3.5x10 (for the bottom collar mounting)
5 Ges
6

7 7

9271.emf

FS6 Flange Mounting

If your drive is Type 1/IP21-protected and there is the risk that dust or other impurities in the cooling air might
end up inside the control unit, start the mounting with actions described in the steps 1 to 5.

If this is not needed, install the flange mounting kit proceeding directly to the step 6. Note, in this case the rear
will not be according to Type 12/IP54.

Please read the step 8 first in order to find out if the snaps are needed.

1 Remove the cover of the driven, and
the fan block plate.

9296 emf




Siemens Industry, Inc.

DPD01156B

Install the internal fan to the fan grille
so that the label is facing upwards.

11137.emr

11138.emf




DPD01156B Siemens Industry, Inc.

Install the internal fan and the fan grille
assembly to frame.

NOTE: The direction of the wire
depends on the control unit.

Insert the power connector of the
3 internal fan to the power terminal.

NOTE: The location of the power
connector depends on the control unit.

Remount the drive cover.

ODoooopoopg

=2l

11140.emf



Siemens Industry, Inc. DPD01156B

4 Remove the screw and
detach the main fan.

9299.emf

)

Insert the sealing plugs (6 pcs).

Remount the main fan. 888 =) 888

D
o
0
0

9300.emf

Attach the side collar with

6 the six screws size 4x12; the tightening
torque for the screws is 2 Nm (17.70

Ibf-in).

11141.emt

20



Siemens Industry, Inc.

DPD01156B
Mount the top collar with
the four screws size 4x16; the
tightening torque is 2 Nm (17.70 Ibf-in).
A
%
7 11154.emf

Mount the bottom collar with

the four screws size 4x16, (2 Nm
(17.70 Ibf-in) torque) and the two
screws size 3.5x10; the tightening
torque is 1,7 Nm (15.04 Ibf-in).

g 4

11157.emf

21



Siemens Industry, Inc.

DPD01156B

In case the back plate bends more than
1.5 mm (.05 in), the use of the
additional snaps is required to
guarantee sealing. The snaps can be
battered down from the bottom cover
(4 mm (.15 in) screws to be used with
the snaps).

Position the snap according to the
dimensional drawing, see Figure 4.
(FS6, flange mount, dimensions)

11155.emf

22



DPD01156B Siemens Industry, Inc.

Flange Mount Kit for Frame FS7

1 The kit consists of:

.E 1. Top collar, (70CMC00343)

= 2. Bottom collar, (7T0CMC00344)
ﬁsr / 3. Side collars (2 pcs), (70CMC00345)
6l M5|£)|N315 ®L Tal 4. Bushln‘g rubber (1 pcs), (MC00016)
5. Fan grille, (70CTC1102699)
TETTO 6. Internal fan, (70CPE00173)
IoUouoonrw
M4x12 PZ Additionally:
X ) 10 screws size M4x12 PZ (for the side, top and bottom collars
TUETTT mounting)
M4x8 PZ

6 screws size M4x8 PZ (for the side collars mounting)
1 wing nut size M5 DIN315 (for the fan grille mounting)
1 torx head (for removing screws. See the step 6.)

=
5

274.emf

FS7 Flange Mounting

If your drive is Type 1/IP21-protected and there is the risk that dust or other impurities in the cooling air might
end up inside the control unit, start the mounting with actions described in the steps 1 to 5.

If this is not needed, install the flange mounting kit proceeding directly to the step 6. Note, in this case the rear
will not be according to Type 12/IP54.

1 Remove the cover of the drive. Also
remove the fan block plate.

9283.emf

23




Siemens Industry, Inc.

DPD01156B

Insert the bushing rubber into position.

9284.emf

Install the internal fan so that

the wire leaves to right direction. The
direction depends on the control unit.
See the step 4 below.

9285.emf

24



DPD01156B Siemens Industry, Inc.

To power the fan, connect it to the l JD — L il
4 power terminal next to the keypad. bk 'Je- L L2l 4
The location of the power connector 1

depends on the control unit.

S
oo

/ O)ethemet LED 5
il 2
11162.emf
5 Remount the drive cover.

25



Siemens Industry, Inc.

DPD01156B

Remove the screws as shown in the
6 picture from both sides of the drive.
Use the torx head provided with the kit.

Remove the screws as shown in the
7 picture from the top and bottom of the

drive. Use the torx head provided with
the kit.

9277.emf

26



DPD01156B

Siemens Industry, Inc.

2 Nm (17.70 Ibf-in).

Fix the side collar with the screws
starting from the top: six M4x12 PZ
screws for the upper three holes and
six M4x8 PZ for the lower three holes.

The tightening torque for the screws is

Fix the top collar with the two M4x12
PZ screws. The tightening torque for
the screws is 2 Nm (17.70 Ibf-in).

9279.emf

27



Siemens Industry, Inc. DPD01156B

Fix the bottom collar with the two
1 0 M4x12 PZ screws. The tightening
torque for the screws is 2 Nm (17.70

Ibf-in). , MM [
1 \
I’ L% ‘\
1 [0] ® — \‘

9280.emf

Information in this document is based on specifications believed correct at the time of publication. The right is reserved to make changes as design im-
provements are introduced. Product or company names mentioned herein may be the trademarks of their respective owners.

© 2013 Siemens Industry, Inc.

Siemens Industry, Inc.

Building Technologies Division Your feedback is important to us. If you have

1000 Deerfield Parkway comments about this document, please send them to
sbt_technical.editor.us.sbt@siemens.com.

Buffalo Grove, IL 60089-4513

USA
1-847-215-1000

28 DPD01156B




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (Adobe RGB \0501998\051)
  /CalCMYKProfile (Photoshop 5 Default CMYK)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU ([Based on '[Press Quality]'] Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks true
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        8.503940
        8.503940
        8.503940
        8.503940
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 8.503940
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


